EAGRAROBREERT — 2 N— ABISH —F

20201320 (K) 21 & E2H

m*’&’ﬁﬁﬁﬂﬂ B2 #+7%—#f% ‘ (XM&] W ‘ (R — | 4 (£) 16000 &
[xE£] 1 %&:340,000 3  2#%:95000™" ~ 37%&:54,000M  4373%&:34,000H ~ 53 :20,000H
& % B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
NS N EEiE: 144, -4-4- . - WEX (BEHE)
11719 =t ILiN— * 4 54.0 1(4_4)4 ira-ds 1 39.3 1 ::19) TREEAAE
L:b—€>TS54 b B:b—trI=a> BREEHM IXT177—L4
oo 18— FEBEE 144, -1-1- . — BEEEE (BHE)
21708 SIS KTOX % 5 ;‘_0 (17:2174) 1-1-1-1 | 39.7 9 (4:3(32) E;‘IEE
LIZART—WoF— BRI TTIATLR HpZX &y K
“ FFITE :45. ~6-6- . — HEE (BHE)
3 o | THEN—Y 46 o 1&5}3 6-6-6-4 | 39.9 4 gs) FEE
LN=YIF4 BA—REY-TJ-X HikHIS
N =l . 0 n_ — HFEE— (BEHE)
41810 AF -1 HR—-1 "6 Roro 1(;51:)3 ¥z 404 ¢ ﬁ; TLEFIA
R:3VFTF1 X7 BT RZZXTE-Y EHik JIE—
. o FLEFRER 145, —-8-8- . — ABED (BEE)
511101 TS54 rA—T— 4 5 g (11415/26) 7-8-8-7 | 40.0 2 zg;s rared
L:NnN—=vo34 B:a3-o-0O0-I— #"HET7—L4
6 7| NIZ2 R #H 5 gg%ﬁfﬂﬁ? 1:(426).0 9-7-7-6 | 40.6 | — 3 469 %;g%)\ (BEB)
QRT— kTN BAUFA RIS aY O | mmzsy
> 6 | MR 1:46.4 2-2-2-4 |41.6| — 8 497 | ETRETR (BEHE)
TRl 4| TEAE 77 w0 ) @y | B Fr-xpEvar
Lihxexy BTFLF-—vavT {hEHIS
. IEE— : -9-10- — TEE (BHE)
8 3| 2Av—rUZY it 6 o 1.(426).8 11-9-10-10 | 41.0 1 <4+733; ﬁ;ﬁ%ﬁ
R:Z2v—hT77Ia> BZXY—RT7IT41T FREFHIS
N — ES . 10-0— _ E—
glgl11| ¥ TERLV /I UT 1 6 1(524%% 1.(437).4 8-10-9-9 | 41.8 7 ;1+532) gﬁ%& (BER)
A AFA D=L K B:aOXEANIL EviLyRTr7—LA
K= :48. —5-5- . = SiEEy (BHE)
10 NES T SNIEA i 7 Bl 1<4f>3 5-5-5-8 | 43.0 5 (4+Sf) et 1
LA TATv— BURCINIAT RS
N . REFIER : -11-11- - SBREX (BHE)
1lsls| 711> it 6 e 1.(418>.5 10-11-11-11{ 42.3 10 ;1:372) it
R:T77ZA)ITT7 B:LAFqgav 4 DO ARG
® 1 —F—EBIERL
13=7r= 8,4,10,9,6,2,1,11,7,5,3
23 =7= 8,4,10,9,6,2,7,1,3,11,5
BEE 8,4,10,9,6,2,7,1,11,3,5
41—+ — 8,10,9, (2,4),7,1,6,11,3,5
[ N3
BB 9 160M 714K 8-9 1,060M e -7 4,200 3JEHE 2-8-9 9,400/
8 B 9 110 2-9 520M B = 8-9 3,570M K31 9-8-2 30,090
8 810M 2-8 2,840/ B H 9-8 4,310M
2 300M

ARICOVWTRDTEEERROODE. TR LI,




